2RXS J060554.2-653916

gamm*bbdy

932908 0124

? T T T
o o o o
i i i i

(A93 s ywd)/suojoyd

4

IR (TR AN N (TR N A (1IN I A [T

T ? T 7
o o o o
— — — —

(A s)/s3uno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

0.00E+00
0.00E+00
0.00E+00

+—-
+—-
+—-

» o (aV] ™ n
™ o o o o
| + + | |
[] c3] [£3] [ £3]
— o o o o
+ & & & S
< o — — —
Il

[} ]
-

© — ]
S ] >
()
s % ' x E
. 2 = o
n = z ) z
TT T TT T[T T TTT 1T
» .
——

e
MANRRARERARERARNRE NN -

° %Y e

s[enpisay

1.00

0.10

X2req = 17.32

Energy/keV



